GES)
somE| 2F TROFHET) 1 szwHE| 2 TROFHH I 3 somE| 26F TROFHEIL 5 s=wE| 2F TROFHRETI) 7
K4 K4 K4 K4
O -3x+5x ® -9x+3x ® -3x+7x ® -I1x+4x
=2x =-62 =4x =-7x
@ 7x-2y-3x-5y @ 5x-2y+3x-y @ 12x-2y-5x-3y @ 8r-5y+3x-2y
=4x-7y =8x -3y =7x-5y =1lx-7y
@ -3(5x+2y) ® —4(62-5y) @ -6(7x+2y) @ -3(9x-4y)
= -15x- 6y = 24+ 20y =—42x-12 =27z +12y
@ (42x-14y)+7 @ (562 +24y)+8 @ 27x-18y)+9 @ (36x+24y)+4
=6x—2y =7x+3y =3x-2y =9x+6y

szmE| 2F TROFHET) 2 szwHE| 2 TR 4 somE| 26F TROFHEIL 6 s=wE| 2F TAOFRETI) 8

K4 K4 K4 K4

O -3z-4x @O -7x-5zx © -6x-52 O -8x-7x

=-7x =-12x =-1lx =-15x
@ 11x+3y—4x+2y @ 7x+5y+4x-2y @ 9x+4y-2x+2y @ 9x+7y+4x-2y
=7x+5y =11x+3y =7x+6y =13x+5y
®© 3(7x-4y) ® 5(8z+3y) @ 3(6x-5y) @ 7(8x+3y)
=21x—-12y =40x+ 15y =18x—15y =56x+21y
@ (30x-12y) = (-6) @ (24x+8y) + (—4) @ (40x-24y) = (-8) @ (81x+9y)+(-9)
=-5x+2y =—6x—2y =-5x+3y =-9x-y




